

CITY OF METHUEN
BID OPENING CERTIFICATION

For
**Bituminous Concrete Pavement Type I-1,
Handwork, Curb and Berm Type-A
FY2023 (Item #1)**

CITY OF METHUEN
CITY HALL OFFICE
METHUEN, MA

The following bids were opened and read publicly on Thursday, August 18, 2022 @ 9:00 am in order of sequence

VENDOR/ADDRESS	5% BOND	QTY	UNITS	TOTAL DOLLARS	Add'l
Bitcon Corporation Asphalt Paving Specialists 18 Popes Lane Danvers, MA 01923	✓				✗
		In Place- In Place Handwork Parking Lot Paving Sidewalks, ramps, drive Curb Berm Type A	10,500 1,000 100 100 1,000 24,000	\$ 74.50 \$ 70.00 \$ 74.50 \$ 74.50 \$ 2.50 \$ 1,75	\$ 782,250.00 \$ \$ \$ \$ \$ \$ 911,650.00
				TOTAL	
EJ Paving 101 Lindberg Ave. Methuen MA 01844	✓				✓
		In Place- In Place Handwork Parking Lot Paving Sidewalks, ramps, drive Curb Berm Type A	10,500 1,000 100 100 1,000 24,000	\$ 77.00 \$ 77.00 \$ 80.00 \$ 100.00 \$ 2.00 \$ 2.00	\$ \$ \$ \$ \$ \$ 953,500.00
				TOTAL	
Brox Industries, Inc. 171 Methuen St. Dracut MA 01826-5439	✓				✓
		In Place- In Place Handwork Parking Lot Paving Sidewalks, ramps, drive Curb Berm Type A	10,500 1,000 100 100 1,000 24,000	\$ 77.70 \$ 77.70 \$ 150.00 \$ 150.00 \$ 3.90 \$ 3.90	\$ \$ \$ \$ \$ \$ 1,021,050.00
				TOTAL	
		In Place- In Place Handwork Parking Lot Paving Sidewalks, ramps, drive Curb Berm Type A	10,500 1,000 100 100 1,000 24,000	\$ \$ \$ \$ \$ \$	\$
				TOTAL	

This document serves as certification that all bid quotations have been recorded accurately, as submitted, by each vendor. This certification is provided under the pains and penalties of perjury, and is attested as witnessed below.

OPENED BY: *Lauri Luttrell*, DATE: *8/10/23* *Addenda was not a Statutory Requirement. No Material change. So no difference put addenda out just to show the Add was change due to prequal classification not in the Ad.* Page 2
VITNESSES: *Jessica Kalil*

CITY OF METHUEN
BID OPENING CERTIFICATION

For 2023 AUG 10 AM 11:00
COLD PLANNING & PROFILING OF BITUMINOUS SURFACES
FY2024 (Item #2)

The following bids were opened and read publicly on Thursday, August 10, 2023 @ 11:00 am in order of sequence

ENDOR/ADDRESS	5% BOND	UNITS	TOTAL DOLLARS
Treadmilling 18 Ayers Village Rd. Suite 1b Methuen, MA 01844	✓ Load Contr. Trucks Dump in Methuen 35,000/SY	\$2,40	\$84,000.00
Brox Industries. 1471 Methuen St. Dracut MA 01826-5439	✓ Load Contr. Trucks Dump in Methuen 35,000/SY	\$ 1.95	\$ 68,250.00
Garnity Asphalt Reclaiming 22 Peters Rd. Bloomfield, CT 06002	✓ Load Contr. Trucks Dump in Methuen 35,000/SY	\$ 3.50	\$122,500.00
(NU Addenda)			
	Load Contr. Trucks Dump in Methuen 35,000/SY	\$	\$
	Load Contr. Trucks Dump in Methuen 35,000/SY	\$	\$

This document serves as certification that all bid quotations have been recorded accurately, as submitted, by each endor. This certification is provided under the pains and penalties of perjury, and is attested as witnessed below.

OPENED BY: Jane Luttrell DATE: 8/10/23

VITNESSES: Jessica Kalil

CITY OF METHUEN
BID OPENING CERTIFICATION

CITY HALL OFFICE
 115 MERRILL ST.
 MASHPEE, MA 02649

For 2023 AUG 10 AM 11:00

Bituminous Concrete Pavement Reclamation
FY2024 (Item #3)

The following bids were opened and read publicly on Thursday, August 10, 2023 @ 11:00 am in order of sequence

ENDOR/ADDRESS	5% BOND	UNIT \$	TOTAL DOLLARS
Garrity Asphalt 22 Peters Rd. Bloomfield, CT 06002	✓	Asphalt Pavements 11,000/sy \$ Earth Excavation 2,500/cy \$ Ledge Excavation 250/cy \$ Gravel bank run 350/cy \$ Calc Chloride 2,500/lb \$ Saw cutting driveways 1,500/lf \$ Catch basins 50/ea \$ Manholes 50/ea \$ Water gates 50/ea \$	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$
		(NO Addenda)	TOTAL \$ 386,500.00
All State Construction PO Box 91 Sunderland MA 01375	✓	Asphalt Pavements 11,000/sy \$ Earth Excavation 2,500/cy \$ Ledge Excavation 250/cy \$ Gravel bank run 350/cy \$ Calc Chloride 2,500/lb \$ Saw cutting driveways 1,500/lf \$ Catch basins 50/ea \$ Manholes 50/ea \$ Water gates 50/ea \$	\$ \$ \$ \$ \$ \$ \$ \$ \$
		TOTAL \$ 222,831.00	
		Asphalt Pavements 11,000/sy \$ Earth Excavation 2,500/cy \$ Ledge Excavation 250/cy \$ Gravel bank run 350/cy \$ Calc Chloride 2,500/lb \$ Saw cutting driveways 1,500/lf \$ Catch basins 50/ea \$ Manholes 50/ea \$ Water gates 50/ea \$	\$ \$ \$ \$ \$ \$ \$ \$ \$
		TOTAL \$	

This document serves as certification that all bid quotations have been recorded accurately, as submitted, by each vendor. This certification is provided under the pains and penalties of perjury, and is attested as witnessed below.

OPENED BY: Jami Lutonace DATE: 8/10/23

VITNESSES: Jessica Kalil

**CITY OF METHUEN
BID OPENING CERTIFICATION
For
MANHOLE CASTING ADJUSTMENT
FY2024 (Item #4)**

OK
The following bids were opened and read publicly on Thursday, August 10, 2023 @ 11:00 am in order of sequence.

VENDOR/ADDRESS	5% BOND	UNITS	TOTAL DOLLARS
M.T. Mayo Corporation PO Box 3054 Woburn, MA 01888			
Drainage Adjust 100/ea	\$275.00		\$27,500.00
“ Rebuilt 100/vf	\$175.00		\$17,500.00
“ Remodeled 25/ea	\$1,500.00		\$37,500.00
Sanitary Rebuilt 100/vf	\$175.00		\$17,500.00
“ Adjusted 100/ea	\$275.00		\$27,500.00
“ Remodeled 25/ea	\$1500.00		\$37,500.00
Gate Box Adjust 100/ea	\$225.00		\$22,500.00
		TOTAL	\$187,500.00
TASCO Construction Inc. 92 Stoneybrook Rd. Belmont, MA 02478			
Drainage Adjust 100/ea	\$450.00		\$45,000.00
“ Rebuilt 100/vf	\$425.00		\$42,500.00
“ Remodeled 25/ea	\$500.00		\$12,500.00
Sanitary Rebuilt 100/vf	\$420.00		\$42,600.00
“ Adjusted 100/ea	\$450.00		\$45,000.00
“ Remodeled 25/ea	\$500.00		\$12,500.00
Gate Box Adjust 100/ea	\$275.00		\$27,500.00
		TOTAL	\$224,600.00
Drainage Adjust 100/ea	\$		\$
“ Rebuilt 100/vf	\$		\$
“ Remodeled 25/ea	\$		\$
Sanitary Rebuilt 100/vf	\$		\$
“ Adjusted 100/ea	\$		\$
“ Remodeled 25/ea	\$		\$
Gate Box Adjust 100/ea	\$		\$
		TOTAL	\$

This document serves as certification that all bid quotations have been recorded accurately, as submitted, by each vendor. This certification is provided under the pains and penalties of perjury, and is attested as witnessed below.

OPENED BY: Laurie Cutroneo, DATE: 10/11/23

WITNESSES: Jessica Kalil

See Attached Email Sent



**CITY OF METHUEN
BID OPENING CERTIFICATION
For
MANHOLE AND CATCH BASIN FRAMES & COVERS & GATE BOXES
FY2024 (Item #5)**

RECEIVED
CITY CLERK'S OFFICE
METHUEN, MA

The following bids were opened and read publicly on Thursday, August 10, 2023 @ 11:00 am in order of sequence.

VENDOR/ADDRESS	5% BOND	UNITS	TOTAL DOLLARS	Add.
E.J. Prescott 102 N. Main Street RT. 114 PO BOX 761 Middle, MA 01949	✓	Manhole Frame & Cover Catch Basin Manhole Frame & Cover Gate Boxes Service Box	50/ea. \$ 550.00 50/ea. \$ 565.00 50/ea. \$ 160.00 50/ea. \$ 76.00	\$ 27,500.00 \$ 28,250.00 \$ 8,000.00 \$ 3,800.00
			TOTAL	\$ 67,550.00
Ferguson WaterWorks 25 Concord Street North Reading, MA 01864	✓	Manhole Frame & Cover Catch Basin Manhole Frame & Cover Gate Boxes Service Box	50/ea. \$ 495.71 50/ea. \$ 511.49 50/ea. \$ 130.96 50/ea. \$ 59.53	\$ 24,785.50 \$ 25,574.50 \$ 6,548.00 \$ 2,974.50
			TOTAL	\$ 59,884.50
		Manhole Frame & Cover Catch Basin Manhole Frame & Cover Gate Boxes Service Box	50/ea. \$ 50/ea. \$ 50/ea. \$ 50/ea. \$	\$ \$ \$ \$
			TOTAL	\$
<i>Addenda was not a statutory requirement. No material changes. So no difference. Put addenda out just to show the bid was changed according to guidelines of prequalification, not being in the Ad.</i>		Manhole Frame & Cover Catch Basin Manhole Frame & Cover Gate Boxes Service Box	50/ea. \$ 50/ea. \$ 50/ea. \$ 50/ea. \$	\$ \$ \$ \$
			TOTAL	\$

This document serves as certification that all bid quotations have been recorded accurately, as submitted, by each vendor. This certification is provided under the pains and penalties of perjury, and is attested as witnessed below.

OPENED BY: Lauri Lutonaci DATE: 8/14/23

WITNESSES: Stephanie Gagnon

Jessica Kalil

*No vendors present.
LH*

CITY CLERK'S OFFICE
METHUEN, MA
2023 AUGUST 14 AM 11:00